wRITETRI0E BT LS R ESEASE D

1. {BHEE T 58 (ER1 77 10B8T - BE)
D 1REK
BEEKA 451 f* i %R B X
T H =R B |[BaRfefEEEEE/\va39 #sR| B %
& E B 12T ESILBFEN4S ZEmE| B =
N AZHE | B |[ARTEESATHERSE EmB| B %
B X £ X | B |ammeiE)EFEILE29 EHRE| B X
h 5 % = | B|emhmBESETFRIIR29 EME| B 5
wE % - B |aRmEESEFFIEI9. mmR| B ¥
@E2EEK
ERE KA 1431 % T W R X
B E - | B |aRETRETHEE27—1 EHRE| B %
E B OB B IgmMmLRAFETMEHSS R E| B X
2 E®& 8 |fmmFAaEF/\E496 EHmEBE| B =
Mg E Xk | B |EITIERTHE230 EAB| B %
HE W B | 2RHmRSE—TEH7H39% EmMBE| B %
=EBETE 8B |[ammEfFEO96 ®mrRE| B e
QEIBEK
{EHEKR 1% 31 * At IR B %
= B M m| B |[aWt/MERFEED6 Z#EmME| B2 X
Wl A B B |2WHEHFARE245 ETRBR| B %
E & B B |4l FIEHATER33 ZEfE| B =%
X K E — B | A SFRIP175 gEwmRE| B %
AmFE | BIRERTRAEZTE17H215 EmRE| B #
H B ¥ x B |AWT THEBEFAAA41 EmE| B %

2. BFEANBEEEERETHH

BERK | B ER B -3 G
o B | 524 395 919
F1RER| & §F £ 1 476 395 871
= fE F 2 72 54 126
HEEXET 1,072 844 1,916
| 8 H 628 591 1,219
F2RERE B % 1 253 186 439
fE I % 2 198 158 356
X E 1,079 935 2,014
23] Lt 538 466 1,004
FORFER| TIEMAEA 335 279 614
THHAE2 08 83 181
REXE 971 828 1,799
S & 3,122 2,607 5,729

XBEERASFCHTIERE MR TEATILRBEEE 100K FIADREICLYRTE
TR EET T,



